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QUESTION 1

What are two advantages of lower modulation methods? (Choose two.) 

A. Lower modulation provides higher total aggregate throughput. 

B. Lower modulation provides higher data rates. 

C. Lower modulation is more robust against signal corruption. 

D. Lower modulation can achieve greater range. 

Correct Answer: CD 

 

QUESTION 2

How is the WLAN affected if Wi-Fi 6 is disabled? 

A. The maximum theoretical data rate is reduced. 

B. No Wi-Fi 6 clients will be able to connect. 

C. All clients will connect using Wi-Fi 5. 

D. No 802. 11ax clients will be able to connect. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/disable-wifi-6/ 

 

QUESTION 3

What are three ways to claim an AP? (Choose three.) 

A. Enter the order ID. 

B. Enter the AP serial number. 

C. Enter the activation code. 

D. Use the Mist Al application. 

E. Enter the AP claim code. 

Correct Answer: CDE 

Reference: https://www.mist.com/documentation/claiming-aps/ 

 

QUESTION 4

JN0-450 Study Guide | JN0-450 Exam Questions | JN0-450 Braindumps                                2 / 3

https://www.passapply.com/jn0-450.html
https://www.passapply.com/jn0-450.html
https://www.passapply.com/jn0-450.html


https://www.passapply.com/jn0-450.html
2024 Latest passapply JN0-450 PDF and VCE dumps Download

In which two layers of the OSI model are WLANs located? (Choose two.) 

A. Network 

B. Transport 

C. Physical 

D. Data Link 

Correct Answer: CD 

Reference: https://www.controleng.com/articles/wi-fi-and-the-osi-model/ 

 

QUESTION 5

Where would you find the IP addresses that a client has used over the past 30 days? 

A. Client Insights 

B. Marvis Query Language 

C. Client Stats 

D. Site Insights 

Correct Answer: A 

Reference: https://www.mist.com/documentation/checking-the-activity-log-of-a-client/ 
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